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Answers
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15. 0

16. 1

17. 1

18. 2

19. 0

20. 1

Use multiplication rules to determine the missing remainder for each problem.

1) 52÷10 = 5 r     2      2) 8,960÷2 = 4,480 r     0      

3) 5,622÷5 = 1,124 r     2      4) 559÷10 = 55 r     9      

5) 59÷5 = 11 r     4      6) 532÷5 = 106 r     2      

7) 106÷5 = 21 r     1      8) 3,735÷5 = 747 r     0      

9) 42÷5 = 8 r     2      10) 708÷10 = 70 r     8      

11) 6,688÷10 = 668 r     8      12) 4,131÷2 = 2,065 r     1      

13) 258÷10 = 25 r     8      14) 565÷10 = 56 r     5      

15) 4,474÷2 = 2,237 r     0      16) 45÷2 = 22 r     1      

17) 595÷2 = 297 r     1      18) 8,572÷10 = 857 r     2      

19) 60÷2 = 30 r     0      20) 3,283÷2 = 1,641 r     1      
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